[ qza TS B dem-

o= P g 2] [Total No. of Printed Pages . 8

Total No. of Questions : 24]

c-232303-9
faug rfere

Subject : Economics

. 80
a3 WR) [Maximum Marks : 80
Time * 3 Hours] ]

fidw - () o e B oEw BT

All questions are compulsory.
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Question NOS\%‘Z’ID 8 are very short answer type questions. Each question
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Question Nos. 9 to 12 are short answer type questions. Each question carries
3 marks. Maximum word limit of answer is 50 words.
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250 words
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(Very Short Answer Type Questions)

7 Jrfe B izl
Write the formula of total utility.

ffsm @ fre @R €7 1
What is mixethmarket.?

thes mr R &N ¢ 2

What is.the meaning of optional money ?
e swaa (CRR) o1 3 fofawi

Write Cash Reserve Ratio (CRR).

TR I 50 PEd €2

What is excise duty ?

wwe % aoe e g weqa fear S @ 2

in Parliament the budget is presented by whom ?
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AT B e g A g b g ) e o & @ a e
e? 4
What is the value of one country's money called the rate of display of the value
of the currency of another country ?

TES. YE e & oam ot @ 1
What is the meaning of balance of payment ?

(e1g I o)
(Short Answer Type Questions)

HE3-9 fd o ®¥S ¥ IR we Hw 14141=3
Explain the difference between stock and supply.

w-10.  FeufteR B fdwaw fofae @ a9 1+1+1=3
Write the characteristics of oligopoly. (Any three)

we-11. wida Roolr feRae 12+1%=3
M AR
(i) REs Ko
Write a brief idte on -
(i) Full employment
(i)  Involuntary unemployment

wa-12. fafedm e &1 wEeEe 3
Explain the investment multiplier,

(e Iera sre)
(Long Answer Type Questions)

wA-13. @t @ e sfore § R ffeel (@8 ar) 1+1+1+1=4

Distinguish between micro-economics and macro-economics. (Any four)
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AF-14.

H-15,

9¥1-16.

(4)
@/ OR
I AN aF A oA RBfme) (@ ar)
Write the assumption of produclion possibility curve. (Any four)
mmﬁmmm#?mmwmmﬁmmi 143=4
What do you mean by production cost ? Distinguish between explicit cost and
implicit cost.

JRE/ OR

m%ﬁmmﬂnﬁ%uﬁmﬁwhﬁmtﬁemy 1+1+1+1=4

Write difference between returns to a factor and retarns 1o scale. (Any four)

Hﬁﬁ'ﬁwwﬁaﬂﬁﬁﬁmﬁaﬁmaﬁﬁur%ﬂsﬂmﬁmﬁ

e ?
242=4

Explain the difficulties of barter system: How did money solve Lhis problem ?
Fuar/ OR

Sa $5 IR e d& A I we AN (@ W) T+14141=4

Explain the difference between central bank and commercial bank. (Any four)

= qEAEl & IR R w6 W IR (GDP) 1 S TSI 3T (GNP) @)

W 242=4
i ¥ ous A

(1) 3JUHIBl a3 09 Jasi & I 9,300

(2) O3 ¥g3N 0 OBl & e 6,100

(3) WA 1 800

) Rret 2,000
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(5)

| DP
Based on the following information. calculate Gross Domestic Product { GD¥)

and Gross National Product (GNP)

(1)
(2)
(3)
(4)

Items T in Crore
Production of consumer goods and services 9.300
Production of capital goods and services 6,100
Import 1.800
Expor 2.000
yal/ OR

Frefefee el ¥ ama B & o7 v s A o AT

- T 03 |

(1) 3y 30,000

(2) fseran 10,000

(3) — 10,000

(4) =S 10,000

(5) 3w . 50.000

(6) we WXy fafrim 4.000

Based on the following information, calculate National Income by Income Method !

items T in Crore

(1) Salary 30,000

(2) Rent 10,000

(3)  Profit 10.000

(4)  Interest 10.000

(5)  Consumption 50,000

(6)  Gross Domestic Investment 4,000
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(6)
nE-17. aoie @ fdwat ffee (@8 9m) 141+141=4

Write the characteristics of the budget. (Any four)
uar/ OR

e g b werl @ ffae (@ aR)

Write the types of public expenditure. (Any four)

WH-18.  Wioge YA Wgem o O oxa & I fofee) (@ am) 1+1+141=4

Write the measures to correct adverse balance of payment. (Any four)
@/ OR

¥ smae-Fafa v sken smw-Faf @ wwm 24+2=4

Explain visible import-export and invisible import-export.

(e Fora =)

(Long Answer Type Questions)
W19, W & PR 3 g 3 I aedl o e A (BE T 1+1+1414141=6
Explain the factors-affecting the price elasticity of demand. (Any six)
gt [ OR
uim @ 3 @ ¥ WM F e d@ o aren i 14526
What is the meaning of demand ? Explain the main elements of demand.
g0, I ¥ Wqgen & uhm @ ol 1941 %:#1%+1%=6

Explain consumer equilibrium with diagram. https://www.cgboardonline.com
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(7)
gal | OR

mmﬁmmmamﬁmmmﬁamm'

- m.
T le and diagrd
Explain the law of diminishing marginal utility with the help of tab

me-21. o & Prm b owae fofeel @8 O 141414141416
Write the exceptions of law of supply. (Any Six)
arudt / OR
m@aﬁa@qmwﬁﬁmﬁﬁm @ )
Write the difference between short period and long period production functon.
(Any six) )
ge@-22,  UOIUGR @ ot wRafia § AR W B (@ B) 141+1+1+1+1=6
Distinguish between monggoly and monopolistic competition. (Any Six)
auar/ OR
— LR
Write the characteristics of market price. (Any Six)
He-23. mﬁu@umﬁq&aﬁaéﬁraﬁ%?wﬁumﬁﬁ?@mw
afsel 343=6
Why is the rate of rise in national income in India slow ? Give your suggestions
to increase national income.
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(8)

3vyan / OR

mWaﬁmaﬁmmmmaﬁﬁvﬂmm%Mmaﬁ

T R B geR au we @) 24242
+2=6
Explain
Plain the problem of double counting as clear by example and how tg id
avoi

the problem of double counting ?

He-2,
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